0002346813567999

w
—o—©

HRHAY O0—e—

2016 4F #7790 (1 HE) 3

3

9/3AB+2AD—AC=0 - &¥)

MR DD E X, ROBMICEX L.

(1) #M3 ACOREIZRD L.
(2) £ZBAC Ok E X & ABCD OHifi% R &.

(1) G 0k) g,
AC = 25 AB +2AD
@inz 2%
|ac|” = (25 AB +2/P )-(2[5AB+2AP)
= 12|AB[+8GA-AD + 4l
= 1224 +85-2:3 wsl50°+4-9

= 48— "12+36
= |2
[/KEI:IT: 3
i

Zvac
- (25 78+ 27 A< )= ACT =0

/CAP= X ¢
b'<c.

23 AB-AC+2AC-AB — A P=0

~12=0 |
2 (DS;{ 3 CO;“?ODfI)— ] = [}
JrJ_W
(05[50,(05 A +shn I‘Sf)ag;w X

PE;

=
- (05115-34&')3(

(2) 54 (k) o MECEHTCT A vo HHE

ZCAP=50-X |

|

|

2.3 223 os X +2.2§3 3‘(05“50.'_1) {

AB=2, AD=3, ZBAD = 150" CH# HUAJE ABCDIZHW\T,

!

-‘.ZL ((oxi'*ﬁﬂnx ) = |

2WI-ng(:(Jrso;)r | z

B
w4307 = |

e

0 <A <1507 (2 H N Tsin(A1307) = ¢
i3 0 (&

X+30°= 90°

L Xs Mf:rABACA

(o ffs ABCD o dft)
~ (AACD o F5) -t (AABC o E04E )
= %2{33 —r_li_Qﬁ 2-snb0”
= 33 +3

' 3
(apBPo@fE) = L.2.3 snlS0"= 5

(ABCD o ifE)
- (M A2 ABCD o T8 ) - (aABP 2BHE)
- 35 t3-3

- 3[5+5

-

N




